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‘(d) the market concentration ratio.
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Combining under one ownership the assets of two or more firms
producing similar products is called

(a) a conglomerate mersger.

(b) a horizontal merger.

(c) a vertical merger.

If demand and supply for a product both 1ncreas¢, the equilibrium

price

(a) will increase.

(b) will decrease.

(¢) will stay the same. '

(d) may increase or dacrease depending on the amounts of shlft in -
demand and supply, i :

The price of a good will rise

(a) when there is excess demand for the good.

(b) when the good is in excess supply. :

(c) when the demand for the good decreases and wroducers attempt to
maintain their profits.

(d) when the supply of the good increases, sinc¢ it is then more
costly to produce additional units of the gbod.-.vn. :
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Assume that between 1970 and 1980 nominal GNP uncredsed from $100
million to %200 million, and that the GNP deflator rose from 100 to
200. We can conclude that between 1970 and 198 ‘

(@) real GNP increased and price stayed the same.

(b) real GNP decreased while prices increased.

(c) both real GNP and prices increased. i ‘

(d) real GNP stayed the same while price increased.

Autonomous consumption

(a) rises as income rises.

(b) rises as interest rate falls.
(c) does not depend on income.
(d) both a and b.

(c) both b and ¢

If consumption equals 1000 when disposable incsme is 1200 and
increases to 1100 when disposable income increjses to 1500, what

are the marginal propensities to consume and save?
(a) MPC = 1/3: MPS = 2/3 ‘
(b) MPC = 1/5; MPS = 4/5

(c) MPC = 2/3: MPS = 1/3

(d) MPC = 3/4; MPS = 1/4

The vertical distance between the 45-degree liﬁe and the aggregate
demand function at any level of income represedts.

(a) saving.

(b) investment.

(¢) unintended inventory investment.

(d) government spending.

Suppose that government increases both taxes and its spending by the

same amount. As a result of this actlon

(a) income will rise.

(b) income will fall.

(c) income will rise or fall depending on .the Value of marginal
propensity to consume. :

(d) income will remain unchanged.

When there is an excess supply of money in the\economy.
(a) money supply will fall.
(b) income will fall.
(e) interest rate will fall. .
(d) interest rate will rise. . }
. \
When an economy is operating at an output which is less than its full
employment output, an increase in government sgendlns will lead to
(a) a lower rate of interest. :
(b) a higher rate of interest.
(c) a higher output.
(d) Both a and c.
(e) Both b and c.
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1. Find the marginal cost function for the followiﬂs average cost

function.
46

AC = 1.5Q + 4 +
Q

2. A producer has the possibility of dlscrlmlnatan between the domestic
and foreign market for a product where the demand respectively is
Q. 21 - 0.1Ps :
Q= 50 - 0.4Pa
Total cost = 2000 + 10Q where Q = Qs + Qs. What prlce will the
producer charge in each market in order to maximize total profits?.
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